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Question Paper Specific Instructions

Please read each of the following instructions carefully before aitempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and |
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempte
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must i

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. I
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a questic
shall be counted even if attempted partly. Any page or portion of the page left blank in i
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

1. FrafTRe T =1 AT 150 veat # 3w i

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

2. (a)

(b)

(e

-ESC-D-HTY

TR 4 & STy ST o <hi Shitet Waxarshian o feoquft Shifsm |

Comment on the French ambition of building a territorial empire in
India.

AT % g % YT, UG A fRE SRR Wed I A myfes 30 § gaw e 2
After the Battle of Plassey, how did India transit from the medieval to
the modern age ?

T MY 38 9 W HeHa @ o 9 4 195 3 204 wrafseat # migwmn anfees
% o o |rTiores gum SR Aiepfieh greeer™ o1 |l gwed R 2

Do you agree with the view that the growth of vernacular literature in
the 19" and the 20" centuries paved the way for social reform and
cultural revival in India ?

“1857 <1 T, Raleal & Tex & gl i aon U e & =i %9 o |7
foqoft Hifsm |

“The Mutiny of 1857 was much more than a Mutiny of Sepoys and much
less than a National Rebellion.” Comment.

S7TcE¥fes A ANl TaRTeHes el i sren Hifsy, few dme § @t
JAGIeH i UG fomam |

Explain “Constructive Swadeshi” characterised by atmashakti
(self-reliance), which propelled the Swadeshi Movement in Bengal.

T HEAT Hal qoh Tal B fh ARG W s Tuiy 3N ameT & 9euus
q, @ IR B TE TE S RSS9 2

How far is it correct to say that if Clive was the founder of the British
Empire in India, Warren Hastings was its administrative organiser ?

“grifa <ht Sfd Tl <At Siar o foedt off @ @ wa wifa wra 9 1 W s
1 Are faferm af<s & ded # e Hifsu |

“Peace hath her victories no less renowned than war.” Examine this
statement with reference to Lord William Bentinck.

“ORd % ToTC &9 Jurell TSHifas e 6t go § el Aftes sifvar off |7
T 39 39 9o O eHd & ?

“India’s_need for a federal system was more an-imperative-than a
political choice.” Do you agree ?
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Q3. (a)
(b)
(c)
Q4. (a)

(b)

(9]

194 SraTed] % SN WRA H Th Hew !l TeAT Ul st ‘fa-sfenfientor waers |
39 UeAT % TG ITRER SHRTN 1 ATe=HTcHS T0EvT IR hitag |

Critically examine the causes responsible for the phenomenon called
‘de-industrialisation’ in India during the nineteenth century.

g e El a% el ¢ fop 10ef wiaredt % anfeawdt fogig swmida U W
& e € 2

How far is it correct to say that the 19th

century tribal uprisings are a
part of subaltern nationalism ?

. .o, SR 3 WRa dI Sy gHen =1 Yol g RH geR A
frepTem 1 T TR 2

How did Dr. B.R. Ambedkar try to seek a political solution to the
problem of caste in India ?

“oret % WIE % SAH (1773 — 1853) % ATH Ul AHSAT o BT W O
TSR o] KA hY STavEeRal 5g T8 off 1”7 st i |

“The need to impose greater parliamentary control over the Company’s
affairs increased during the decades (1773 — 1853) after Plassey.”
Elucidate.

AR T Siee | Afgrett 3w wewet it e 2

What significant role did women play in the Indian National Movement ?

AT YA § YOy Al o WEY I THISH 1 ATAeHTcHsS T
A T |

Critically examine the nature and scope of environmental movements in
Independent India.
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SECTION B

Q5. Tr=ferfam ucdies 1 TRt 150 yregt # sw AR

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

(c)

VI-ESC-D-HTY

“BIe TIE ° Fo 37TH VA T AT ATAHICHSD g TS ... Seifh (Y
A hae GUYRN Q@ AT, A 3 had WHE HoHsl W S ook sl %

FATEG U hl WSTEA I TS o@T ... 7 39 W 34 femn Tga hifsg |

“Karl Marx applied his critical intelligence to Wealth of Nations ...
Where Smith had seen only the sunlight, Marx saw only the shadows
thrown upon the human scene by the unimpeded exercise of individual
liberty ...” Elucidate.

Hefe JoTTell 1 R 2 AT W IS FHh THTE T HeATh HIfT |

What is Metternich system ? Assess its impact on Europe.
“Ueg FY ha el GRUTTSAT 1 1Y 7 |7 fewruft yega hifs |
“League of Nations is a League of Notions.” Comment.

AR o TE AT & J&T A0 i e i |

Explain the main features of the US Federal Constitution.

Tenydt fova o fArfma A fopa rent 3w femn 2

What factors contributed to the emergence of a unipolar world ?

SHTEE iR T HROT HrEe Qi & & Remg hify Swreardt oo 3 TR
=t AT 61 IR0 off | 36 HYA 1 AT RIS Togd T |

Critically examine the statement that the French Revolution was not
caused by the French philosophers but by the conditions of national life
and by the mistakes of the government.

“I9 STY A ST T Wl TRl @ Fehal | B Rvarw ? f6 98w, ot
Ta™ AR Al 3Twe, TRl w9 A RF T8 w® wwdt |7 teH A
& THeEmsy |

“A house divided against itself cannot stand. I believe this government
cannot endure permanently, half slave and half free.” Explain Abraham
Lincoln’s perspective.

o % T Tuw # @ & i gr P W weet wftem w5 ol
HIT |

Trace-the significant role played by Ho Chi Minh in Vietnam’s struggle
for freedom.
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Q7. (a)
(b)
(c)

Q8. (a)
(b)
(c)

M-ESC D HTY

AT 7 TFg YR TNIGHT Thad © HERT TS o SR qiEa bl
A H "% U hi 2

How did Lenin achieve an abrupt transition from a Monarchical
autocratic to a Socialist State ?

1 39 39 e ¥ ggHa & o6 auiw afy s W snuria |fy siit enewi ™
i GfYr & <te T g0 |Eetarn o1 ?
Do you agree with the view that the Treaty of Versailles was a bad

compromise between a treaty based upon force and a treaty based on
ideas ?

3t amrseaTe it Rl snfie #1800 § 1907 7% g fg w R
TEgd HIT |

Trace the growth of British imperialism in South Africa from 1800 to
1907.

Mﬁﬁg@%mmmﬁ%mmmﬁ%ﬁ | fFa &8 T =8
A ATHTSIETE o foeg Sffshan off ?

Trace the growth of Arab nationalism after the First World War. How
far was it a reaction to Oil imperialism ?

20t vraTect = 3ifer qreht ¥ Wifewa T8 # ST ST IRaaHT - frg &9 |
weit JRIT i Tl Ht guTer R ?
In what way did the political changes in Soviet Umon influence the

events in KEastern Europe during the closing decades of the

20th century ?

Aue AfeT At AR Feedt g3 TRl it TR@n S¥qd IR |
Outline the circumstances leading to Détente.
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